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QP(Z=Zp01)=0.01:  Zp01=2.33; Z0.02=2.05; Z0.03=1.88; Z.04=1.75; Z.05=1.65; Z.06=1.56; Z.07=1.48; Z05=1.40; Zo.09=1.34;
Z0.10=1.28; Z20=0.84; Z(30=0.52; Z040=0.25; Z( 50=0.00 °
(3) P(F=Fy1,2,01)=0.1:  F1,117,01=2.7489; F1,118,0.1=2.7485; F1,119,0.1=2.7482; F1,120,01=2.7478; F2,117,01=2.3485; F2,118,0.1=2.3481; F2,119,0.1=2.3477;
F2.12001=2.3473 -

- ¢ 4rP(A)=0.5 » P(B)=0.35:

1. #P(AnB)=0.2 > £ P(AUB) ? (5%) 2. FP(BIA)=04 HP(AIB) ? (5%)

3. #A~B®B 2 » RP(AUB) ? (5%) 4. #A~B3I % » £P(B|A) ? (5%)
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1.3% 11 = 7 & p(Binomial Distribution) &£ # # 3 1B £ 1Bt 7 & KB 5 - (10%)

2.# 1 * A & pe(Poisson Distribution) &3 ¢ j55 1 % & 8 5 - (10%)
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